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Instructions:
EZ4 A4
EHEMA:

> Question number 1 to 20 are of short answer type.
F1E20EREEE,
F1E20B R EE-H,
> Each question carries 10 marks.
BE5102,
FEAS5107.
1. The value of HCF(8, 9, 25) x LCM(8, 9, 25)is _____ .
8,9,25 NEARLNRBMEZ N BB .
8,925 WRALNABME N EHRRE_


mac


If two roots of the equations x3 + x2 -ax -b = 0 are -3 and 3, find its
remaining root.

BAEXC + X2 -ax -b = ONEP2{ER2-3M3 , FHRHERTHIR,
BHER+x2-ax -b = ONHFP2MER-3F3 , HEHRERTHIR,

If sin x + cosec x =2, then find the value of sin'®x + cosec2x.
£sin x + cosec x =2 , s Hsinx + cosec?0x,

£sin x + cosec x =2 , iBE¥HK Hsin'¥x + cosec?0x,

The sum of a two digit number and the number obtained by reversing its
digits is 154. The digits differ by 4. Find the largest possible value of the

original number.

—Em B EE R EAN B MR 154, MEBNVHEEL, FREERERR
HYBLAY B KA BB (E.

— PN EREMIE B ANHB MR 154, MNRVHEEL, BHRERRK

HYERAY B K AT BB ME.



Find the present age of a boy whose age 12 years from now will be square of
his present age.

—BBENREFENFHERMARRFHEN T LI , FHREXBENRTFEH,
—ABERNREFENFRERMIMNFRNTFAE , FRHZBEZNIMTFIR,

0.
, m? 1
In an A.P., the sum of first n terms is 7 + 7 Find its 25" term.

e an? 15
£ AP.H , BN HMA 7+70 SRESE 25 18,

n° 13
5 +70 SR,H\% 25 I,

AP R, B nTBLzMA



7.

If z2 = 2xy, find ©.
Hz2=2xy, EEH6,
E72=2xy , BEHHO,

S

Determine the ratio in which y-x+2 = 0 divides the line joining (3, -1) and (8, 9).
Ik HE#Ry-x+2 = OFfT 7 &3R8 (3, -1) (8, )WY E#RAV LA,
B HELyY-x+2 = OFf 7 EIZF (3, -1) (8, 9) W E LAY LLHI,



9.

100 students sat two examinations. 60 passed the first, 50 passed the second
and 30 passed both. Find the probability that a student selected at random
has failed in both the examinations.

1008 2E2HETMAER , B0 BB TARER ,S08BBTEZIR, A3
OB MRE BB, MY —24  FREARBFCIRETSEBIBR,
1008 F4ESETHAER , B0OBBE TERER ,508BE THEZR, B3

OB MREET, MEHHE—%% , FREMETHINEHTEIHR,

10.

A circle is inscribed in a right triangle with legs 6 cm and 8 cm. Find the radius
of the inscribed circle.

—ERER-EAZAK , HEPEA=ZAFBENWEACERMBEKXK |, Fik
8 AR EIRY ¥ 1K

—ENET-EAZAK K HPEA=ZATXRENMULNCEXRMBEXK , Fi&
X AR R ¥



11.

A steel wire when bent in the form of a square encloses an area of 121 cm?2.

If the same wire is bent into the form of a circle, find the area of the circle.
—IRMREMITM R —EA R, HERR121FHFER, &HE — R IR 0K
— B , FHRHZERNER,

—RWMELEBEITHMA—ELEHN , HERE121 P HERK, BE—RMWEAMR # K

—E , BEHHZREEAER,

12.

An inverted right circular cone of height 12 cm and the base radius 9 cm
contains water to a depth of 4 cm. Find the area of the interior surface of the
cone not in contact with the water.
E—S12EXNEFBRIERNE I EHEKEKRBIEKR, FRHZEH
REEEKN AT ERE,
E—S12EXNEFERIERN B EHRKEKRNIEK, FhHHZE#

R EAKE N E R ER.



13.

Express the weighted mean of first 'n' natural numbers in terms of n, whose
weights are proportional to the corresponding numbers.
AAUNRRENEERBAVINEFHE AP EEREMEE RN BFRLHA,
FUNRTRENN BRI MRFEE , APNERSHEN N RFRLEH,

14.

Two persons are 'a' meters apart and the height of one is double that of the
other. If from the mid-point of the line joining their feet, an observer finds the
angular elevation of their tops to be complementary, express the height of the
shorter person in terms of a.

MAMEaR , EH - ANEERE —ANME, BREXEMEANRNNFEER
HEFEHIA , AEBRRMEAANNARERA., FULaRkRTBRENANES.
MAMEaK , EH—ANEERE —ANFRE, BREMNFEDNANENF LER

HIKHMAE  WE2RIAFDMIANNERERE, FRlaRTRENANE S,



15.

What is the sum of 36 terms of the series whose nth term is 5n + 47?
BB —EnIBEASN+HANEFN B 36IE 2 M 211 ?

HR] —SEnBURSN+AR BB E 36T 2 M= 4L ?

16.

A girl of height 90 cm is walking away from the base of a lamp post at a
speed of 1.2 m/sec. If the lamp is 3.6 m above the ground, find the length of

the girl's shadow after 4 seconds.

—BIERSHLKEAYIRI2KERBHER BT, BREXEENRSH
IR E A 3.6K , FRHERLESITHRBRNEEHNRE.

—BERSHLHKIELUWR12KNERET —{TH, BEZTHENRSKE

EEAS.6K , FHREZLESITHERENAZHKE,



17.

Find the remainder when (5p3-13p2+21p-14) is divided by(3-2p+p?).

B H (5p3-13p2+21p-14)# (3-2p+p?) BREV ER X o

B, H(5p3-13p2+21p-14)# (3-2p+p2) BRI R X o

18.

Points (6,8),(3,7),(—2,-2) and (1,-1) are joined to form a quadrilateral. What ty

pe of quadrilateral is it?

U 2(6,8),(3,7),(-2,-2) F (1,-)BER KA —UEH |

HY U2 T 2

MU 2(6,8),(3,7),(-2,-2) M (1,-NBOER K H —EB |

HY L FE 2

(a) Rhombus

=
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(b) Parallelogram
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B R — M AT



(c) Square
ERH
ERH

(d) Rectangle
= YF

KEH

19.

Find the coordinates of the orthocenter of 2AABC having its vertices A (- 2, - 3),
B (2, 1) and C (5, - 2).

AR HEAABCHEODHERZ , EFA(-2,-3),B(2,1) M C (5, -2).

EHRHEAABCHELDKENR , EFA(-2,-3),B(2,1) M C (5, -2).

20.

Find the number of bricks, each measuring 25cmx12.5cmx7.5cm, required to
construct a wall 12m long, 5 m high and 0.25 m thick, while the sand and cem

ent mixture occupies 5% of the total volume of wall.

B—REEHRTR25EXx125EXKx75E XK, RE , EEAREBE12K
K, 5KEM025KEMNRBE, CHAPMEZTNESYSSLIBEENERN
5%, BREEZEEAUTHBEANREESZSE,



B—MIENR T R25EXx12.5EXKx7.5E K, ME , EEAMEMIE12K

K, 5REM0.25KEMNIHE, EMATERLIHNESY T2 SEEERNARMN

5%. E#HHFEERUSTERIEENMNIEHE .

END OF PAPER



